Unit 2

Square Roots, GCF, LCM, Laws of Exponents
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* Write the decimal by it.

. CoPtiSUﬁ todo trl:is forA,B,C,and D
to find the match.
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« THERE MAY BE MORE THAN 1 MATCH

SO BE SURETO DOA, B, C, and D!

Simplifying Square Roots

* Key things you must know:

* Square root is a number that two numbers multiply together to equal
* Ex)V4 = 2 because2x2=4

- Ex)V81 =9

* Use Calculator keys
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Steps for Examples 5 and 6

* Find all the factors of the number next to x under square root
* | will show you an easy way to do this.

* Take the smallest number (other than 1) and divide it into all the
choices.

- If it goes in evenly into one of the choices, that choice is your answer
« If not, continue this process with the rest of the factors.

For Examples 7 and 8

* Take the number in front of the radical in the question and divide it by
the number in front of the radical by the x.

* Take that number and square it.

* That number is your answer
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Which value of x makes the

expression above equivalent to
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C. 50

D. 100
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Which value of x makes the

expression above equivalent to
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Operations with Square Roots

* Enter the problem into calculator to find the decimal

* Enter the choices into calculator to find the decimals

* Find the match.

* If there is more than one match, go with the smaller number under

the square root.
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